
FAQs 

1. Find the value of e-1. 

Solution: 

According to the expansion of exponential function 
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2. What is the expansion of eax? 

Solution: 
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3. Find the sum of the series 
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Solution: 
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4. State De Moiver’s Theorem. 

Solution: 

De Moiver’s theorem states that if ‘n’ is any integer, positive or negative 

then  iSinnCosniSinCos n  )( and if ‘n’ is a fraction positive or 

negative then  iSinnCOsn   is one of the value of niSinCos )(   . 

5. Find the co-efficient of xn in the expansion of ea+bx 

Solution: 
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So co-efficient of xn in this expansion is  
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